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NEW QUESTION 1
Which two characteristics apply to firewall transparent mode operations in a firewall solution design? (Choose two.)

A. Changes in the existing IP addressing and subnets are required
B. The firewall can participate actively on spanning tree.

C. Multicast traffic can traverse the firewall.

D. OSPF adjacencies can be established through the firewall

E. The firewall acts like a router hop in the network.

Answer: CD

NEW QUESTION 2

An enterprise that runs numerous proprietary applications has major issues with its on-premises server estate hardware, to the point where business-critical
functions are compromised. The enterprise accelerates plans to migrate services to the cloud. Which cloud service should be used if the enterprise wants to avoid
hardware issues yet have control of its applications and operating system?

A. SaaS
B. PaaS
C. laaS
D. hybrid cloud

Answer: C

NEW QUESTION 3
An enterprise has identified these causes for inefficient CAPEX spending:

> CAPEX planning is driven by technology and not by business objectives.
> The CAPEX planning team lacks the data it needs to perform due diligence tasks.

> The organizational structure lacks sufficient accountability and incentives.
Which corporate cultural change contributes to improving the effectiveness of CAPEX spending?

A. Build a financial control function that delivers high-quality reports on operational expenses for business insight and financial reporting.
B. CxO-level staff must have a full technical understanding but the should not trust their technical leaders fully.

C. Adopt new organizational models that promote real accountability for RO

D. not just revenu

E. EBITDA, and cash.

F. Marketing and product management divisions must reduce their CAPEX budgets significantly to drive the change.

Answer: C

NEW QUESTION 4
Refer to the exhibit.
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An engineer is designing the traffic flow for AS 111. Traffic from AS 111 should be preferred via AS 100 for all external routes. A method must be used that only
affects AS 111. Which BGP attributes are best suited to control outbound traffic?

A. community

B. MED

C. local preference
D. As path

Answer: C

NEW QUESTION 5
Company XYZ wants to improve the security design of their network to include protection from reconnaissance and DoS attacks on their sub interfaces destined
toward next hop routers. Which technology can be used to prevent these types of attacks?

A. MPP
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B. CPPr
C. CoPP
D. DPP

Answer: B

Explanation:
https://learningnetwork.cisco.com/s/question/0D53i00000KsuyvCAB/copp-vs-cppr

NEW QUESTION 6
Which two statements describe the hierarchical LAN design model? (Choose two)

A. Itis a well-understood architecture that provides scalability

B. It is the best design for modern data centers

C. It is the most optimal design but is highly complex

D. It provides a simplified design

E. Changes, upgrades, and new services can be introduced in a controlled and stagged manner

Answer: AE

NEW QUESTION 7
Which purpose of a dynamically created tunnel interface on the design of IPv6 multicast services Is true?

A. first-hop router registration to the RP
B. multicast client registration to the RP
C. multicast source registration to the RP
D. transport of all IPv6 multicast traffic

Answer: D

NEW QUESTION 8
Company XYZ has a new network based on IPv6. Some of the subnets that they are planning to use will be confidential and need an addressing scheme that
confines them to the local campus network. Which type of IPv6 addresses can be used for these networks in the IPv6 addressing design?

A. local addresses

B. private addresses

C. link-local addresses

D. unique local addresses

Answer: D

NEW QUESTION 9
What are two descriptions of network optimization? (Choose two.)

A. maintain high availability

B. proactive network management
C. network redesign

D. network health maintenance

E. identify network requirements

Answer: AD

NEW QUESTION 10

During evaluation of migrating current on premises infrastructure to add cloud-based infrastructure, a network planning team must meet three core requirements as
they make recommendations on which cloud strategy to adopt going forward

» Technology is changing rapidly, therefore the enterprise must be open to adopting new ways of doing things, and be ready to invest CapEx-funds in the next
three years

* Network bandwidth capacity requirements are dynamic and are expected to change over the next year

« If new technologies are to be introduced, operational expenses must be kept at a minimum. Which cloud strategy meets these requirements?

A. private
B. hybrid
C. public
D. multicloud

Answer: D

NEW QUESTION 10
Company XYZ has 30 sites running a legacy private WAN architecture that connects to the Internet via multiple high- speed connections The company is now
redesigning their network and must comply with these design requirements :

> Use a private WAN strategy that allows the sites to connect to each other directly and caters for future expansion.
> Use the Internet as the underlay for the private WAN.

> Securely transfer the corporate data over the private WAN.
Which two technologies should be Incorporated into the design of this network? (Choose two.)

A. S-VTI
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B. IPsec
C. DMVPN
D. GET VPN
E. PPTP

Answer: BC

NEW QUESTION 14

When designing a WAN that will be carrying real-time traffic, what are two important reasons to consider serialization delay? (Choose two )

A. Serialization delays are invariable because they depend only on the line rate of the interface
B. Serialization delays are variable because they depend on the line rate of the interface and on the type of the packet being serialized.
C. Serialization delay is the time required to transmit the packet on the physical media.

D. Serialization delays are variable because they depend only on the size of the packet being serialized
E. Serialization delay depends not only on the line rate of the interface but also on the size of the packet

Answer: BD

NEW QUESTION 16

Which actions are performed at the distribution layer of the three-layer hierarchical network design model? (Choose two)

A. Fast transport
B. Reliability

C. QoS classification and marking boundary

D. Fault isolation

E. Redundancy and load balancing

Answer: DE

NEW QUESTION 17

Identity and access management between multiple users and multiple applications has become a mandatory requirement for Company XYZ to fight against ever
increasing cybersecurity threats. To achieve this, federated identity services have been deployed in the Company XYZ network to provide single sign-on and Multi-
Factor Authentication for the applications and services. Which protocol can be used by Company XYZ to provide authentication and authorization services?

A. OAuth2

B. OpenID Connect
C. OpenID

D. SAML2.0

Answer: D

NEW QUESTION 18

Sometimes SDN leverages various overlay networking technologies to create layer(s) of network abstraction. What describes an overlay network?

A. It transmits packets that traverse over network devices like switches and routers

B. It encapsulates packets at source and destination, which incurs additional overhead
C. Packet delivery and reliability occurs at Layer 3 and Layer 4
D. It is responsible for the delivery of packets; NAT- or VRF-based segregation is required

Answer: B

NEW QUESTION 21

Which three elements help network designers to construct secure systems that protect information and resources (such as devices, communication, and data)
from unauthorized access, modification, inspection, or destruction? (Choose three.)

. confidential

. serviceability
. reliability

. availability

. integrity

. scalability

TmooOwm>

Answer: ADE

NEW QUESTION 25
Refer to the table.

ICONNECTIVITY ICAPEX |OPEX INSTALLATION FEE [TERM
ANNUAL

IDWDM over dark fiber [$250.000 [$100,000 930,000 60 months

CWDM over dark fiber 150,000 [$100,000 525,000 B0 months

IMPLS $50.000 [5150.000 $75.000 12 months

IMetro Ethemnet $45.000 [$125,000 55,000 36 months

A customer investigates connectivity options for a DCI between two production data centers. The solution must provide dual 10G connections between locations
with no single points of failure for Day 1 operations. It must also include an option to scale for up to 20 resilient connections in the second year to accommodate
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isolated SAN over IP and isolated, dedicated replication IP circuits. All connectivity methods are duplex 10 Gbps. Which transport technology costs the least over
two years, in the scenario?

A. Metro Ethernet
B. DWDM

C. CWDM

D. MPLS

Answer: B

NEW QUESTION 27
Which design principal improves network resiliency?

A. Added load-balancing
B. Added redundancy
C. Added confidentiality
D. Added reliability

Answer: B

NEW QUESTION 31
Refer to the table.

ICONNECTIVITY [CAPEX |OPEX INSTALLATION [TERM
ANNUAL |FEE

IDWDM over dark [$200,000{$100 000 $30 000 12 months
fiber

WDM over dark [$150.000[$100 000 $25.000 18 months
fiber
IMPLS wires only 850,000 [$180,000 $5.000 12 months
IMetro Ethernet 565000 100,000 $5.000 36 months

A customer investigates connectivity options for a DCI between two production data centers to aid a
large-scale migration project. The migration is estimated to take 20 months to complete but might extend an additional 10 months if issues arise. All connectivity
options meet the requirements to migrate workloads. Which transport technology provides the best ROI based on cost and flexibility?

A. CWDM over dark fiber
B. MPLS

C. DWDM over dark fiber
D. Metro Ethernet

Answer: D

NEW QUESTION 32
Refer to the exhibit.

10.10.10.0/24

OSPF is running as the IGP to provide reachability to all AS100 networks R3 and R4 are the current ABRs at the boundary of OSPF AreaO and Areal Now BGP
must be deployed within AS 100 because it will be receiving Internet routes from its eBGP peers (the service provider) connected to R1 and R2 What is an optimal
solution for this deployment to configure BGP relationships and redistribute BGP learned routes into OSPF?

A. R5 should be configured as a route reflector for R1, R2, R3 and R4. BGP routes must be redistributed at R1 and R2 into OSPF.
B. Configuration should be set up with R1 and R2, and R3 in one sub AS, with and R4 in another, and redistribution at R1 and R2.
C. A full mesh should be deployed between all the routers with mutual redistribution to take place at R1 and R2.

D. R1, R2, R3 and R4 must be set up with a neighbor relationship with R5 only must not be a routereflector.

Answer: C
NEW QUESTION 33
Company XYZ is planning to deploy primary and secondary (disaster recovery) data center sites. Each of these sites will have redundant SAN fabrics and data

protection is expected between the data center sites. The sites are 100 miles (160 km) apart and target RPO/RTO are 3 hrs and 24 hrs, respectively. Which two
considerations must Company XYZ bear in mind when deploying replication in their scenario? (Choose two.)
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A. Target RPO/RTO requirements cannot be met due to the one-way delay introduced by the distance between sites.
B. VSANs must be routed between sites to isolate fault domains and increase overall availability.

C. Synchronous data replication must be used to meet the business requirements

D. Asynchronous data replication should be used in this scenario to avoid performance impact in the primary site.

E. VSANs must be extended from the primary to the secondary site to improve performance and availability.

Answer: CD

Explanation:

synchronous data replication must be used to meet the business requirements, is incorrect. As described above, asynchronous replication would be a better
choice in this scenario due to the distance between the data center sites and the target RPO/RTO requirements.

asynchronous data replication should be used in this scenario to avoid performance impact in the primary site, is correct. Asynchronous replication would allow
Company XYZ to meet the target RPO/RTO requirements while avoiding the performance impact of synchronous replication.

NEW QUESTION 36
Which two possible drawbacks should you consider when introducing Network Functions Virtualization in a network design? (Choose two)

A. Bandwidth utilization increases

B. Traffic flows are suboptimal

C. High-end routers are required to support NFV

D. OpenFlow must be supported in the network

E. An SDN orchestration layer is required to support NFV

Answer: CE

NEW QUESTION 41
You are designing the QoS policy for a company that is running many TCP-based applications. The company is experiencing tail drops for these applications. The
company wants to use a congestion avoidance technique for these applications. Which QoS strategy can be used to fulfill the requirement?

A. weighted fair queuing

B. weighted random early detection
C. low-latency queuing

D. first-in first-out

Answer: C

NEW QUESTION 43

A business wants to refresh its legacy Frame Relay WAN. It currently has product specialists in each of its 200 branches but plans to reduce and consolidate
resources. The goal is to have product specialists available via video link when customers visit the nationwide branch offices. Which technology should be used to
meet this objective?

A. DMVPN phase 1 network over the Internet
B. Layer 3 MPLS VPN hub and spoke

C. Layer2VPLS

D. Layer 3 MPLS VPN full mesh

Answer: D

NEW QUESTION 48

Company XYZ Is running a redundant private WAN network using OSPF as the underlay protocol The current design accommodates for redundancy In the
network, but it Is taking over 30 seconds for the network to reconverge upon failure Which technique can be Implemented In the design to detect such a failure in a
subsecond?

A. STP

B. fate sharing
C. OSPF LFA
D. BFD

E. flex links

Answer: D

NEW QUESTION 49

An external edge router provides connectivity from a service provider to an enterprise Which two Internet edge best practices meet compliance regulations'?
(Choose two )

A. Implement filtenng to control traffic that is sourced from the infrastructure IP space.

B. Enable and use only secure protocols.

C. Send logs to a centralized logging collection server.

D. Implement EBGP to advertise all owned IP blocks.

E. Use login banners and interface access lists to restrict administrative access to the system
Answer: BE

NEW QUESTION 51

What is a web-based model in which a third-party provider hosts applications that are available to customers over the Internet?

A. PaaS
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B. SaaS
C. laaS
D. WaaS

Answer: B

NEW QUESTION 54
Drag and drop the end-to-end network virtualization elements from the left onto the correct network areas on the right.

Edge Control
Network Funcbons Virtualeation (NFY)
option A
IF Tunnelng :
opoon B
VRF Transport Virtualization
opticn A
MPLS + MP-BGP
aption B
VLAN
Service Virtuzlization
Service Contamers opton A
option B

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Graphical user interface Description automatically generated with medium confidence

NEW QUESTION 59

An IT service provider is upgrading network infrastructure to comply with PCI security standards. The network team finds that 802.1X and VPN authentication
based on locally-significant certificates are not available on some legacy phones.

Which workaround solution meets the requirement?

A. Replace legacy phones with new phones because the legacy phones will lose trust if the certificate is renewed.
B. Enable phone VPN authentication based on end-user username and password.

C. Temporarily allow fallback to TLS 1.0 when using certificates and then upgrade the software on legacy phones.
D. Use authentication-based clear text password with no EAP-MD5 on the legacy phones.

Answer: B

NEW QUESTION 61
What is a description of a control plane action?

A. de-encapsulating and re-encapsulating a packet in a data-link frame

B. matching the destination MAC address of an Ethernet frame to the MAC address table

C. matching the destination IP address of an IP packet to the IP routing table

D. hosts locating routers that reside on attached links using the IPv6 Neighbor Discover Protocol

Answer: D

NEW QUESTION 64

You are using iSCSI to transfer files between a 10 Gigabit Ethernet storage system and a 1 Gigabit Ethernet server The performance is only approximately 700
Mbps and output drops are occurring on the server switch port. Which action will improve performance in a cost-effective manner?

A. Change the protocol to CIFS.

B. Increase the queue to at least 1 GB

C. Use a WRED random drop policy

D. Enable the TCP Nagle algorithm on the receiver

Answer: A

NEW QUESTION 69
What are two key design principles when using a hierarchical core-distribution-access network model? (Choose two )
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A. A hierarchical network design model aids fault isolation

B. The core layer is designed first, followed by the distribution layer and then the access layer
C. The core layer provides server access in a small campus.

D. A hierarchical network design facilitates changes

E. The core layer controls access to resources for security

Answer: AD

NEW QUESTION 73
A banking customer determines that it is operating POS and POI terminals that are nhoncompliant with PCI DSS requirements, as it is running TLSv1.0. The
customer plans to migrate the terminals to TLSv1.2. What are two requirements to complete the migration? (Choose two.)

A. Ensure that strong cryptography is applied for users who have administrative access through networks
B. Apply strong cryptography and security protocols to safeguard sensitive cardholder data.

C. Apply strong encryption for transmission of cardholder data across public networks.

D. Protect all user systems against malware and frequently update antivirus software

E. Maintain a policy that addresses information security for employees and third parties.

Answer: CE

NEW QUESTION 74

A product manufacturing organization is integrating cloud services into their IT solution The IT team is working on the preparation phase of the implementation
approach, which includes the Define Strategy step. This step defines the scope of IT, the application, and the service What is one topic that should be considered
in the Define Strategy step?

A. financial and governance models

B. innovate and align with business according to volume
C. due diligence and financial scenarios

D. contingency exit strategy steps

Answer: D

NEW QUESTION 77
Which two control plane policer designs must be considered to achieve high availability? (Choose two.)

A. Control plane policers are enforced in hardware to protect the software path, but they are hardware platform dependent in terms of classification ability.
B. Control plane policers are really needed only on externally facing devices.

C. Control plane policers can cause the network management systems to create false alarms.

D. Control plane policers must be processed before a forwarding decision is made.

E. Control plane policers require that adequate protocols overhead are factored in to allow protocol convergence.

Answer: AD

NEW QUESTION 82
An engineer must design a network for a company that uses OSPF LFA to reduce loops. Which type of loop would be reduced by using this design?

A.DTP
B. micro loops
C.STP
D. REP

Answer: B

NEW QUESTION 84
You are tasked to design a QoS policy for a service provider so they can include it in the design of their MPLS core network If the design must support an MPLS
network with six classes, and CEs will be managed by the service provider, which QoS policy should be recommended?

A. map IP CoS bits into the IP Precedence field
B. map flow-label bits into the Exp field

C. map IP precedence bits into the DSCP field
D. map DSCP bits into the Exp field

Answer: D

NEW QUESTION 85

An MPLS service provider is offering a standard EOMPLS-based VPLS service to Customer A. providing Layer 2 connectivity between a central site and
approximately 100 remote sites. Customer A wants to use the VPLS network to carry its internal multicast video feeds which are sourced at the central site and
consist of 20 groups at Mbps each. Which service provider recommendation offers the most scalability?

A. EOMPLS-based VPLS can carry multicast traffic in a scalable manner

B. Use a mesh of GRE tunnels to carry the streams between sites

C. Enable snooping mechanisms on the provider PE routers.

D. Replace VPLS with a Layer 3 MVPN solution to carry the streams between sites

Answer: D
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NEW QUESTION 89

Your network operations team is deploying Access Control Lists (ACLS) across your Internet gateways They wish to place an ACL inbound on the Internet gateway
interface facing the core network (the "trusted" interface). Which IP address would the ACL need for traffic sourced from the inside interface, to match the source
address of the traffic?

A. inside global
B. outside global
C. inside local
D. outside local

Answer: C

NEW QUESTION 91
Company XYZ wants to secure the data plane of their network. Which two technologies can be included in the security design? (Choose two)

A. DAI

B. IP Source Guard
C. BEEP

D. CPPr

E. MPP

Answer: AB

NEW QUESTION 93
Which technology is an open-source infrastructure automation tool that automates repetitive tasks for users who work in networks such as cloud provisioning and
intraservice orchestration?

A. Ansible
B. Contrail
C. Java
D. Jinja2

Answer: A

NEW QUESTION 94
Company ABC wants to minimize the risk of users plugging unauthorized switches and hubs into the network Which two features can be used on the LAN access
ports to support this design requirement? (Choose two.)

A. Loop Guard
B. PortFast
C.DTF

D. Root Guard
E. BPDU Guard

Answer: BE

NEW QUESTION 96
Which two factors must be considered for high availability in campus LAN designs to mitigate concerns about unavailability of network resources? (Choose two.)

A. device resiliency
B. device type

C. network type

D. network resiliency
E. network size

Answer: AD

NEW QUESTION 100

Customer XYZ network consists of an MPLS core. IS-IS running as IGP a pair of BGP route reflectors for route propagation, and a few dozens of MPLS-TE
tunnels for specific tactical traffic engineering requirements. The customer's engineering department has some questions about the use of the Overload Bit in the
IS-IS networks and how it could be used to improve their current network design. Which two concepts about the Overload Bit are true? (Choose two.)

A. It can be set on a router during the startup process for a fixed period of time

B. Networks advertised within the LSPs of the respective node will become unreachable

C. It forces the midpoint MPLS-TE node to reoptimize the primary tunnels going through the OL node.
D. It can be set on a router until other interacting protocols have signaled convergence.

E. It is not recommended on BGP Route Reflectors

Answer: AD

NEW QUESTION 104

Which optimal use of interface dampening on a fast convergence network design is true?
A. When occasional flaps of long duration occur

B. when numerous adjacent flaps of very short duration occur

C. when the router hardware it slower than the carrier delay down detection
D. when the switch hardware is faster than the debounce timer down detection
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Answer: B
NEW QUESTION 107

How many fully established neighbour relationships exist on an Ethernet with five routers running OSPF as network type broadcast?

0
0

moow>
N B~ O Ol

Answer: C

Explanation:

Assuming routers R1-R5, R1 is elected DR, R2 BDR. Fully established neighborships only occur to DR and BDR, all other neighbors are in 2Way DR other state.
DR|BDRFull relationships:

R2-R1 R3-R1 R3-R2 R4-R1 R4-R2 R5-R1

R5-R2

NEW QUESTION 110
An enterprise solution team is performing an analysis of multilayer architecture and multicontroller SDN solutions for multisite deployments. The analysis focuses
on the ability to run tasks on any controller via a standardized interface. Which requirement addresses this ability on a multicontroller platform?

A. Deploy a root controller to gather a complete network-level view.

B. Use the East-West API to facilitate replication between controllers within a cluster.
C. Build direct physical connectivity between different controllers.

D. Use OpenFlow to implement and adapt new protocols.

Answer: D

NEW QUESTION 114
Which two actions must merchants do to be compliant with the Payment Card Industry Data Security Standard? (Choose two.)

A. conduct risk analyses

B. install firewalls

C. use antivirus software

D. establish monitoring policies

E. establish risk management policies

Answer: BC

NEW QUESTION 115

Company XYZ has a hub-and-spoke topology over an SP-managed infrastructure. To measure traffic performance metrics, they implemented IP SLA senders on
all spoke CE routers and an IP SLA responder on the hub CE router. What must they monitor to have visibility on the potential performance impact due to the
constantly increasing number of spoke sites?

A. CPU and memory usage on the spoke routers
B. memory usage on the hub router

C. CPU usage on the hub router

D. interface buffers on the hub and spoke routers

Answer: C

NEW QUESTION 120
Refer to the exhibit.

Data Center Core

Layer 3

FESESE S B EE R R

Layer 2

Your company designed a network to allow server VLANSs to span all access switches in a data center In the design, Layer 3 VLAN interfaces and HSRP are
configured on the aggregation switches Which two features improve STP stability within the network design? (Choose two.)

A. BPDU guard on access ports
B. BPDU guard on the aggregation switch downlinks toward access switches
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C. root guard on the aggregation switch downlinks toward access switches

D. root guard on access ports

E. edge port on access ports

F. access switch pairs explicitly determined to be root and backup root bridges

Answer: AE

NEW QUESTION 123
What is the most important operational driver in building a resilient and secure modular network design?

A. Dependencies on hardware or software that is difficult to scale
B. Minimize app downtime

C. Reduce the frequency of failures requiring human intervention
D. Increase time spent on developing new features

Answer: B

NEW QUESTION 125
Retef to the exhibit.

e

1 EIGRP 111
1000 Roules

EIGRP 223
100 Routes

This network is running OSPF and EIGRP as the routing protocols Mutual redistribution of the routing protocols has been contoured on the appropriate ASBRs The
OSPF network must be designed so that flapping routes m EIGRP domains do not affect the SPF runs within OSPF The design solution must not affect the way
EIGRP routes are propagated into the EIGRP domains Which technique accomplishes the requirement?

A. route summarization the ASBR interfaces facing the OSPF domain
B. route summarization on the appropriate ASBRS.

C. route summarization on the appropriate ABRS.

D. route summarization on EIDRP routers connecting toward the ASBR

Answer: B

NEW QUESTION 126

Which two points must network designers consider when designing a new network design or when evaluating an existing network design to help them understand
the high-level design direction with regards to the security aspects? (Choose two)

A. Consider Business objectives and goals

B. Consider organization’s security policy standards

C. Consider for only multi-site networks

D. Consider for only new network technologies and components

Answer: AB

NEW QUESTION 128
Refer to the exhibit.
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ACME Mining has four data centers in Santiago. Cape Town. Mumbai, and Beijing, full-mesh connected via a 400 Mb/s EVP-LAN They want to deploy a new
mission-critical application with these requirements:

> cluster heartbeat 2 Mb/s continuous (250 KB/s)

> cluster heartbeat one-way maximum latency 100 ms
These are the current ping tests results between the four data centers:

Santiago $:£: Mumbai | Beijing
Santiago |- 280 ms 378 ms 409 ms
Cape Town | 260 ms - 185 ms 445 ms
Mumbai 383 ms 176 ms - 443 ms
Beijing 430ms |448ms |(442ms |-

Which hosting data center pair can host the new application?

A. Mumbai and Beijing

B. Santiago and Cape Town
C. Santiago and Mumbai

D. Cape Town and Mumbai
E. Cape Town and Beijing
F. Santiago and Beijing

Answer: D

NEW QUESTION 132
Company XYZ is running BGP as their routing protocol. An external design consultant recommends that TCP path MTU discovery be enabled. Which effect will

this have on the network?

A. It will enhance the performance of TCP-based applications.
B. It will increase the convergence time.

C. It will improve the convergence time.

D. It will create a loop free path.

Answer: A

NEW QUESTION 135

Which two advantages of using DWDM over traditional optical networks are true? (Choose two.)

A. inherent topology flexibility and service protection provided without penalty through intelligent oversubscription of bandwidth reservation
B. ability to expand bandwidth over existing optical Infrastructure

C. inherent topology flexibility with built-in service protection

D. inherent topology flexibility with intelligent chromatic dispersion

E. inherent topology flexibility with a service protection provided through a direct integration with an upper layer protocol

Answer: BC

NEW QUESTION 136

Which three Cisco products are used in conjunction with Red Hat to provide an NFVi solution? (Choose three.)

A. Cisco Prime Service Catalog
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B. Cisco Open Virtual Switch

C. Cisco Nexus switches

D. Cisco UCS

E. Cisco Open Container Platform
F. Cisco Virtual Network Function

Answer: CDF

NEW QUESTION 139
Router R1 is a BGP speaker with one peering neighbor over link "A". When the R1 link/interface "A" fails, routing announcements are terminated, which results in
the tearing down of the state for all BGP routes at each end of the link. What is this a good example of?

A. fault isolation
B. resiliency

C. redundancy
D. fate sharing

Answer: D

NEW QUESTION 144
Your company wants to deploy a new data center infrastructure Based on the requirements you have chosen VXLAN as encapsulation technology The customer is
concerned about miss-configuration of Layer 2 devices and DC wide outages caused by Layer 2 loops What do you answer?

A. VXLAN offers native loop avoidance mechanism

B. Storm Control should be enabled on all ports

C. VPC+ could prevent L2 loop on access ports

D. BPDU Guard should be enabled on all VTEP access ports

Answer: D

NEW QUESTION 145
Refer to the exhibit.

Multicast source

FHH% 5P cogg 10

IGP cost 10
= |
-

=S
(*,G) only

=p | Multicast destination

As part of a redesign project, you must predict multicast behavior What happens to the multicast traffic received on the shared tree (*,G), if it is received on the
LHR interface indicated*?

A. It is dropped due to an unsuccessful RPF check against the multicast source
B. It is switched give that no RPF check is performed

C. It is switched due to a successful RPF check against the routing table

D. It is dropped due to an unsuccessful RPk8t8ck against the multicast receiver.

Answer: C

Explanation:

https://www.cisco.com/c/en/us/support/docs/ip/ip-multicast/16450-mcastguide0.html

When a multicast packet arrives on an interface, the RPF process checks to ensure that this incoming interface is the outgoing interface used by unicast routing in
order to reach the source of the multicast packet. This RPF check process prevents loops. Multicast routing does not forward a packet unless the source of the
packet passes a RPF check. Once a packet passes this RPF check, multicast routing forwards the packet based only upon the destination address.
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NEW QUESTION 147
A green data center is being deployed and a design requirement is to be able to readily scale server virtualization Which IETF standard technology can provide this
requirement?

A. data center bridging

B. unified fabric

C. Transparent Interconnection of Lots of Links
D. fabric path

Answer: C

NEW QUESTION 151
Refer to the exhibit.
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Site-Y 10.10.20.20

An architect must design an enterprise WAN that connects the headquarters with 22 branch offices. The number of remote sites is expected to triple in the next
three years. The final solution must comply with these requirements:

> Only the loopback address of each of the enterprise CE X and Y routers must be advertised to the interconnecting service provider cloud network.
> The transport layer must carry the VPNv4 label and VPN payload over the MP-BGP control plane.

> The transport layer must not be under service provider control.
Which enterprise WAN transport virtualization technique meets the requirements?

A. EIGRP Over the Top

B. MPLS over BGP over multipoint GRE
C. DMVPN per VRF

D. point-to-point GRE per VRF

Answer: B

NEW QUESTION 153
A key to maintaining a highly available network is building in the appropriate redundancy to protect against failure. This redundancy is carefully balanced with the
inherent complexity of redundant systems. Which design consideration is relevant for enterprise WAN use cases when it comes to resiliency?

A. Design in a way that expects outages and attacks on the network and its protected resources
B. The design approach should consider simple and centralized management aspect

C. Design in a way that it simplifies and improves ease of deployment

D. Design automation tools wherever it is appropriate for greater visibility

Answer: A

NEW QUESTION 155
Which two statements describe network automation and network orchestration? (Choose two.)

A. Network automation does not provide governance or policy management.

B. Network automation spans multiple network services, vendors, and environments.

C. Network orchestration is done through programmatic REST APIs enabling automation across devices and management platforms.
D. Provisioning network services is an example of network automation.

E. Network orchestration is used to run single, low-level tasks without human intervention

Answer: AC

NEW QUESTION 157
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